normalized X2

[ normalized x? probability |

1g - - - - - - Entries
10
102ff-:-
10°F]-:- [
10k 0'4:_
105k ; 0.2}
.9“):6 i i i i | i i i i o D i i i | i i i i i
T T
o o
f1 =
0% 4 6 & 10 12 14 16 18 20 %0 01020304 05060.70809 1
X2 Prob(x?)
mmm== DQM_correctCheck_mu_pt1t01000_eta2p5to4p0
=== DQM_original_mu_pt1to1000_eta2p5to4p0
A2
k=i
c
<
v

0.6F+-
o vy
IS
o
1
0.95 . . . . . . . .
4 3 -2 10 1 2 3 4
n
A N
I : :
S Lgfeeeee RRRES foreenees RN
< r . . .
Vovefeeee Beeeneeden RRRREES
o
T
v
0. .
10 1 10 10?

< X2/ ndf >

i
T T[T [T [T T I [T TIT T

Ratio

1072 107
AR(track, jet?



	Contents
	Page 1


